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Time - 3 Hours Maximum Marks : 80

Note : Attempt Five questions in all, selecting one
question from each Unit. Q. No. 1

is compulsory. All questions carry equal

marks.
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i. (a) Define dispersion.
fagigur =1 gfarfya sifsg
(b) Bricfly explain addition and multiplication
laws of probability.
qifgea @ wig ik o frael F ag
q wAwEe |
(c) . Write applications of Chi-square test.
g FrE-g7 gleor & syam fafae |
(g}"HIWhat do you mean by sampling
distribution ?
T oo @ swuswr ¥ owedd 2
g;)/What is interquartile range ? '
| saegeds o owm @2

(-ﬁ/l)eﬁne Kurtosis.

F2fgq = qRwfga =Hifsa |

_/(g)/ﬁ;ﬂ‘erentiatc between Partial and Multiple
Correlation.
aTRTE 3l TETHE wedey @ e 3T
Farzg |
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Y~ What are the assumptions of parametric
- tests ? 2x8=16

tedfifes wlaol =Y wrmand s ¥ 2
Unit I
GO
2. (a}f"ﬁe folluwiﬁg table gives information on

- years of education of 7 farmers and

annual vield per acre of their farm :

Years of Annual yield
Education per acre

0 4

2 4

4 6

6 10

g 12

10 9

12 11
Find weather the yield per acre is affected
by years of education of farmers. 10
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frofafaa aferey 7 feamt =1 faar =

Ios F1 SR @ €

forgn wid &S
& ad arfder  3UA

0 4

2 4

4 6

6 10

8 12

10 9

12 11

WEY F 76 It 9 e I feaE

@t e & 9w 9@ gwifam @t R
(b) What do you mean by Multiple
Regression ? Giire example. 6
THIYE Ifmm | o Fan e @ 9
3T Ffan
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3. What do you mean by Dispersion ? What is
5. A manufacturing firm produces steel pipes in

its importance ? Dis iti : . :
p cuss critically wvarious three plants with daily production volumes of

measures of dispersion. 16 500, 1000 and 2000 units respectively. According

to the past experience, it is known that the fraction

fasqur ¥ &9 =1 @9g ¥ ? TEe T

of defective output produced by three plants are

F ¢ ? faguu & faft= o 1 s 0.005, 0.008 and 0.010. If a pipe is selected from

=i = | a day's total production and found to be defective,

find out the probability that it came from the third

Unit 11 plant. 16

aTe 11 wF fafmin wd d= "9 F w500,

'4/13)/%& a note on binomial distribution. 8 1000 =Tt 2000 ¥ = 3w aww s
: * WY S UEY 1 IO F ¢ fred

fgR faar m o feooit fafaw | | 3MYY & AR, W8 I & R 9 FEA g

-

(b) ~Explain the process of hypothesis Iaaifea Jrwgel ST &1 W 0.005, 0.008

3R 0010 2 | IR ™ KT F FTW IORA

formulation and testing. 8
o | IR L B U
IReheT fmfor a3k yiteo
= wfEa w5t o 2, @ e Wiewa @ Fitme fE @
R HY | | d Ha3 9 3 ® |
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Unit III

gahTg I11

6. What do you mean by standard error ? What
is its use in hypothesis testing ? Explain with
the help of a suitable example. Also calculate
standard error of mean from the following
data showing amount paid by 100 firms in
Calcutta on Durga Pooja : 16

Mid-value No. of Firms
(in thousand Rs.)

5 2

15 | 3.

25 A

35 - {2:0 -

45 R )

55 25

65 7
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sff TurAr ifed
- d waf W WEAr
(zvm wad H)
5 2
15 3
25 11
35 20
45 32
55 25
65 7

7. A plastic manufacturer tests the tensile strength
of different types of polyethene material. A
sample of three measurements is taken for
each material type and data in pounds per

square inch are as follows :
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'Iype 1 . Type 2 ‘I}"pe 3

200 260 245
215 255 gag

Determine, if the mean tensile strengl&l of the

three different materialg differ significant]
— \
using a parametric test. Valye of F-statistic ig
5.143 1 = '
or vy 2mﬂvz=6at5%
significance.

level of

quﬁim%iﬁq?ﬂqwmwm

mm%ﬁtmgﬁqﬁﬁﬁm.

™ W &,
eET 1 THIT 2 w3
200 260 245
215 255 248
218 277 27
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A 16 .
W"Wﬁﬁmﬁﬁ?mﬁm{ﬁ i
TR T S e g v

friifrs wlem w1 3w@ @ Fifa i
fr w1 99 sem-sem amiEl @t ia T
w f § 1 5% W™ & W W v =2
iR v, =6 & faq F-wfemsl & 7. 5.143

21

Unit IV
geRE IV
8. Write notes on the following :
(a) Uses and misuses of Chi-square test 8
(b) Conditions of applying Chi-square test
and Yate's correction. 8
frafafar w fexfal fafae
() FE-T whgu & swEm R gEwEm
(@ Fr-wd whgor ok ¥ B FER H @
FER OF TE |
1180 11A W T BTN 1
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0. T;st’g{ 5% level of significance if the two
_~attributes in the following contingency (able

are independent : 16
Training

Performance Intensive Good Average Total

Above Average 100 150 40 200

Average 100 100 100 300

Poor 50 80 150 280

Total 250 350 290 B70

(For 4 degree of freedom, table wvalue of
Chi-square at 5% Jevel of significance is 9.49.)
o frefafaa sTEREed dfae § Q feviand
wag € @ 5% TEW w WX W T

wfymerar
wagiA W T siWa & .
Aaa & I 100 150 40 290
s 100 100 100 300
T - 50 80 150 280
] 250 330 290 870

(:aaﬁm.ﬁa}f%ﬁ%m,s%wa%w
w Fr-wt w1 @ e 9.49 2 1)

G-9231510H-23501103(1PG3)(TR) 11 350
https://www.cbluonline.com


https://www.cbluonline.com/

